[ number of missing inner layers |

[ number of missing outer layers |

1 - - - - - —| Entries 126 1e - - - - - —| Entries 126
E Mean 0.3254 E Mean 0.1429
F Std Dev 0.8622 F Std Dev 0.6633
L P — L R
107 Entries 126 107 Entries 126
F Mean 0.3016 F Mean 0.1349
r Std Dev_ 0.7895 r Std Dev_ 0.6589
-2 -2
10 3 Entrles 123 10 3 Entnes 123
F Mean 0.3171 F ' Mean 0.1382
3 r Std Dev 0.8678 3 r N Std Dev 0.6666
10°F 10°F 3 QRS LT En
o Entries 124 o : Entries 124
o Mean 0.3145 o . Mean 0.1371
. Std Dev 0.8648 . : Std Dev 0.664
[T pd TSI NREY RSN BRIt T 1074 S I Rl el T
E Entries 126 E Entries 126
L Mean 0.3095 L . Mean 0.1429
10—5 L | std Dev 0.7915 10—5 L N +. | Std Dev 0.6633
ODw.... AN PR R WP O TP PP I I e ODU-»"" AP PETTY ET W I O PP P e P
= [ = [ :
© [ © [ ——
o — o L ——
| e ey ] R REEE R EE R RS EEEEE EE R SRR 1] tom o EEEEEREE EEEEE R LR
0.95 — 0.95 : R
0 1 2 3 4 5 6 7 8 9 10 0 1 2 3 4 5 6 7 8 9 10
—— L) I OT IIIdI SLE] l VU _TldZ UlU ko]
— D f< 200, etap é’
(et — B Ie stzg 200 6132 0t02
mean i " ate step% ptBOO eta2p0to2p5
— 40r Entries 126
1) L Mean 17.23
> r Std Dev 4.145
A 35 L B B |
g r Entries 126
= - Mean 17.42
V' 30k Std Dev 4.083
{Entries
Mean 17.48
Std Dev 4.099
: 1
Entries 124
Mean 17.44
°| Std Dev 4.112
: I
Entries 126
Mean 17.25
1= Std Dev 4.124
A P
g g LLE +1
g g 1.05F 9
1
0.95F
oF 4+ L3 . .
] 10 15 20 25 30 35 40
track hits
[ N of simulated tracks vs pT | [Nofreco track vs pT |
1e Entries g 10007 1e Entries 132
3 Mean 225.2 3 Mean 166.2
E Std Dev 5.027 E sidpev["] 8235
(| I s A - I o I s A - I
10 E : v Entries 10007 10 E . v Entries 132
F : : Mean 225.2 F : : Mean 167.4
o : o : 5
r . Std Dev 5.027 L J'l—u'l . std Def. 81.53
O I S, [ ... ] 2L .....].. ; H T ]
10 E Emrles 10007 10 E : : 129
o : Mean 225.2 o 165.8
o[ : Std Dev 5.027 o[ 81.66
10° - R Pttt N S 10°E 1T e e
E : Entries 10007 E 1
- Mean 225.2 I~ 16
104k suo oo 104 e e R 8132
F Entries 10007 F 132
r Mean 225.2 r 166.2
5L Std Dev 5.027 -5L_.... 82.36
107°F - 107°E
o10%F | o108k s I .
= L N N N = L ]
< N : : : < N 1 1 1
o L H H H o L T T T
il gl = oF - SEEEEEREEEEEEER EEEEEEEEEEREE - + ------- h=----- b R =
0.95— . : . > 5 0.95— : : : 5
10 1 10 10 10 10 1 10 10? 10
TP p track p_

o



	Contents
	Page 1


